
Un jeu pour 2 à 5 joueurs de Bruno Cathala mis en images par Franck Drevon

ROOLO
OBOO
DU

E D I T I O N S



U
n 

je
u 

po
ur

 2
 à

 5
 jo

ue
ur

s d
e 

Br
un

o 
Ca

th
al

a 
m

is
 e

n 
im

ag
es

 p
ar

 F
ra

nc
k 

D
re

vo
n

C’
es

t l
’h

eu
re

 d
e 

Co
n�

ne
m

en
t D

er
ni

er
. S

ou
s 

le
s 

ye
ux

 m
éd

us
és

 d
es

 g
en

s 
no

rm
au

x,
 le

s 
PQ

lti
st

es
 s

e 
ru

en
t d

an
s 

le
s 

su
pe

rm
ar

ch
és

 p
ou

r 
dé

va
lis

er
 le

s 
ra

yo
ns

 d
e 

pa
pi

er
 to

ile
tte

 
a�

n 
de

 f
ai

re
 d

es
 o

�r
an

de
s 

à 
Ce

lu
i-q

ui
-d

or
t-

su
r-

le
-T

rô
ne

 (
vo

us
 v

oy
ez

 u
ne

 a
ut

re
 

ra
is

on
?)

.

Vo
us

 ê
te

s v
ou

s-
m

êm
e 

un
 d

e 
ce

s P
Q

lti
st

es
. V

ot
re

 o
bj

ec
tif

 ?
 R

éc
up

ér
er

 le
s r

ou
le

au
x 

a�
n 

de
 p

ro
po

se
r 

au
 �

na
l l

a 
m

ei
lle

ur
e 

o�
ra

nd
e,

 e
t d

on
c 

es
pé

re
r 

êt
re

 é
pa

rg
né

 d
u 

Co
n�

ne
-

m
en

t.

M
a

té
r

ie
l:

55
 tu

ile
s c

om
po

sé
es

 d
e 

:
10

 tu
ile

s P
Q

 n
um

ér
ot

ée
s 1

0 
(3

 a
ve

c 
le

 sy
m

bo
le

   
   

   
)

9 
tu

ile
s P

Q
 n

um
ér

ot
ée

s 9
 (3

 a
ve

c 
le

 sy
m

bo
le

   
   

   
)

8 
tu

ile
s P

Q
 n

um
ér

ot
ée

s 8
 (3

 a
ve

c 
le

 sy
m

bo
le

   
   

   
)

7 
tu

ile
s P

Q
 n

um
ér

ot
ée

s 7
 (2

 a
ve

c 
le

 sy
m

bo
le

   
   

   
)

6 
tu

ile
s P

Q
 n

um
ér

ot
ée

s 6
 (2

 a
ve

c 
le

 sy
m

bo
le

   
   

   
)

5 
tu

ile
s P

Q
 n

um
ér

ot
ée

s 5
 (2

 a
ve

c 
le

 sy
m

bo
le

   
   

   
)

4 
tu

ile
s P

Q
 n

um
ér

ot
ée

s 4
 (1

 a
ve

c 
le

 sy
m

bo
le

   
   

   
 )

3 
tu

ile
s P

Q
 n

um
ér

ot
ée

s 3
2 

tu
ile

s P
Q

 n
um

ér
ot

ée
s 2

1 t
ui

le
 P

ol
ic

e

M
is

e 
en

 p
la

ce
:

M
él

an
ge

z 
so

ig
ne

us
em

en
t l

es
 5

5 
tu

ile
s 

et
 p

la
ce

z-
le

s 
fa

ce
 c

ac
hé

e 
su

r 
la

 ta
bl

e,
 e

nt
re

 le
s 

jo
ue

ur
s, 

de
 so

rt
e 

qu
’el

le
s n

e 
se

 re
co

uv
re

nt
 p

as
.

Co
m

m
en

t j
ou

er
:

Ce
 je

u 
es

t u
n 

st
op

 o
u 

en
co

re
, d

ou
bl

é 
d’

un
 p

et
it 

as
pe

ct
 m

em
or

y.
Le

s j
ou

eu
rs

 jo
ue

nt
 à

 to
ur

 d
e 

rô
le

. L
e 

de
rn

ie
r à

 ê
tr

e 
al

lé
 a

ux
 to

ile
tte

s c
om

m
en

ce
.

Lo
rs

 d
e 

so
n 

to
ur

, l
e 

jo
ue

ur
 co

m
m

en
ce

 p
ar

 re
to

ur
ne

r f
ac

e 
vi

si
bl

e 
n’

im
po

rt
e 

la
qu

el
le

 d
es

 
tu

ile
s d

u 
ce

nt
re

 d
e 

la
 ta

bl
e,

 e
n 

la
 la

is
sa

nt
 su

r s
on

 e
m

pl
ac

em
en

t.

Pu
is

 il
 a

 le
 c

ho
ix

:
SO

IT
 d

e 
co

nt
in

ue
r s

es
 a

ch
at

s:
 D

an
s c

e 
ca

s i
l r

et
ou

rn
e 

un
e 

no
uv

el
le

 tu
ile

.  
   

SO
IT

 d
e 

st
op

pe
r s

es
 a

ch
at

s e
t d

e 
re

m
pl

ir
 le

 c
o�

re
 d

e 
sa

 v
oi

tu
re

: D
an

s c
e 

ca
s, 

il 
ga

rd
e 

to
ut

es
 le

s t
ui

le
s r

év
él

ée
s e

t l
es

 p
la

ce
 d

ev
an

t l
ui

 d
an

s s
on

 st
oc

k.
 C

la
ss

ez
-le

s p
ar

 n
um

ér
o.

Q
ue

 s
e 

pa
ss

e-
t-

il 
si

 le
 jo

ue
ur

 r
et

ou
rn

e 
un

e 
tu

ile
 d

e 
m

êm
e 

nu
m

ér
o 

qu
’u

ne
 tu

ile
 

dé
jà

 r
év

él
ée

:

Q
ue

 se
 p

as
se

-t
-il

 si
 le

 jo
ue

ur
 r

et
ou

rn
e 

la
 tu

ile
 p

ol
ic

e:

Q
ue

 se
 p

as
se

-t
-il

 si
 le

 jo
ue

ur
 r

et
ou

rn
e 

un
e 

tu
ile

 a
ve

c 
un

 sy
m

bo
le

 :

Q
ue

 se
 p

as
se

-t
-il

 si
 le

 jo
ue

ur
 r

et
ou

rn
e 

un
e 

tu
ile

 a
ve

c 
un

 sy
m

bo
le

 :

Pa
ta

tr
as

 !
! 

L’
in

st
ab

le
 m

on
ta

gn
e 

de
 P

Q
 

de
 v

ot
re

 c
ad

dy
 s

’éc
ro

ul
e.

 V
ou

s 
pe

rd
ez

 
to

ut
. 

Pr
en

ez
 c

es
 t

ui
le

s 
en

 m
ai

n,
 a

in
si

 
qu

e 
3 

au
tr

es
 

pr
is

es
 

au
 

ha
sa

rd
, 

m
él

an
ge

z-
le

s, 
et

 
re

pl
ac

ez
-le

s 
fa

ce
 

ca
ch

ée
 a

ux
 en

dr
oi

ts
 d

e v
ot

re
 ch

oi
x.

(v
ou

s 
se

ul
 s

av
ez

 m
ai

nt
en

an
t 

où
 s

on
t 

ca
ch

és
 

le
s 

bo
ns

 
ro

ul
ea

ux
...

 
M

ai
s 

vo
us

 
en

 
ra

pp
el

le
re

z v
ou

s ?
)

A
ie

 !!
! J

av
el

 &
 V

éc
é,

 le
 c

él
èb

re
 ta

nd
em

 d
e 

la
 P

ol
ic

e 
du

 
bo

n 
go

ût
 (

ils
 v

ou
s 

to
rc

he
nt

 u
ne

 a
�a

ir
e 

en
 m

oi
ns

 d
e 

de
ux

!)
, 

vo
us

 t
om

be
 d

es
su

s. 
Vo

us
 n

’av
ez

 p
as

 v
ot

re
 

dé
ro

ga
tio

n.
 Ç

a 
va

 c
hi

er
! V

ou
s 

pe
rd

ez
 to

ut
. P

re
ne

z 
ce

s 
tu

ile
s 

en
 m

ai
n,

 a
in

si
 q

ue
 3

 a
ut

re
s 

pr
is

es
 a

u 
ha

sa
rd

 
m

él
an

ge
z-

le
s, 

et
 re

pl
ac

ez
-le

s 
fa

ce
 c

ac
hé

e 
au

x 
en

dr
oi

ts
 

de
 v

ot
re

 c
ho

ix
. (

D
e 

la
 m

ém
oi

re
?)

SI
 c

et
te

 t
ui

le
 e

st
 d

e 
m

êm
e 

nu
m

ér
o 

qu
’u

ne
 a

ut
re

 t
ui

le
 p

ré
cé

de
m

m
en

t 
ré

vé
lé

e,
 v

ou
s 

pe
rd

ez
 v

ot
re

 to
ur

 (v
oi

r 
pl

us
 h

au
t)

. S
in

on
, a

va
nt

 d
e 

co
nt

in
ue

r 
vo

s 
em

pl
et

te
s, 

vo
us

 p
ou

ve
z 

co
ns

ul
te

r 
se

cr
èt

em
en

t 
n’

im
po

rt
e 

qu
el

le
 t

ui
le

 
ca

ch
ée

 a
u 

m
ili

eu
 d

e 
la

 ta
bl

e.

SI
 c

et
te

 t
ui

le
 e

st
 d

e 
m

êm
e 

nu
m

ér
o 

qu
’u

ne
 a

ut
re

 t
ui

le
 p

ré
cé

de
m

m
en

t 
ré

vé
lé

e,
 v

ou
s 

pe
rd

ez
 v

ot
re

 to
ur

 (v
oi

r 
pl

us
 h

au
t)

. S
in

on
, é

ch
an

ge
z 

un
e 

tu
ile

 
dé

jà
 d

ev
an

t v
ou

s d
an

s v
ot

re
 st

oc
k 

av
ec

 la
 tu

ile
 d

e 
vo

tr
e 

ch
oi

x 
du

 st
oc

k 
d’

un
 

ad
ve

rs
ai

re
.

Le
 to

ur
 d

’u
n 

jo
ue

ur
 se

 te
rm

in
e 

lo
rs

qu
’il

 re
to

ur
ne

 u
ne

 tu
ile

 d
e 

m
êm

e 
nu

m
ér

o,
 o

u 
lo

rs
qu

’il
 

ré
vè

le
 le

s 
po

lic
ie

rs
, o

u 
lo

rs
qu

’il
 d

éc
id

e 
de

 s
to

pp
er

 s
es

 a
ch

at
s 

po
ur

 r
em

pl
ir

 le
 c

o�
re

 d
e 

sa
 

vo
itu

re
.

O
n 

pa
ss

e 
al

or
s a

u 
to

ur
 d

u 
jo

ue
ur

 su
iv

an
t.

La
 p

ar
tie

 p
re

nd
 �

n 
lo

rs
qu

e,
 à

 la
 �

n 
du

 to
ur

 d
’u

n 
jo

ue
ur

, i
l r

es
te

 5
 tu

ile
s o

u 
m

oi
ns

 a
u 

ce
nt

re
 

de
 la

 ta
bl

e.
Q

u
i 

g
a

g
n

e 
?

Ch
ac

un
 c

al
cu

le
 a

lo
rs

 la
 v

al
eu

r d
e 

l’o
�r

an
de

 q
u’

il 
va

 ré
al

is
er

.
- C

ha
cu

n 
co

m
pt

e 
le

 n
om

br
e 

to
ta

l d
e 

   
   

   
su

r l
es

 tu
ile

s d
e 

so
n 

st
oc

k.
- 

Ch
ac

un
 c

om
pt

e 
aj

ou
te

 e
ns

ui
te

 u
n 

bo
nu

s 
ég

al
 a

u 
nu

m
ér

o 
de

 s
a 

pl
us

 g
ra

nd
e 

pi
le

 d
e 

ro
ul

ea
ux

 id
en

tiq
ue

s (
en

 c
as

 d
'ég

al
ité

 e
nt

re
 p

lu
si

eu
rs

 p
ile

s, 
pr

en
ez

 e
n 

co
m

pt
e 

ce
lle

 d
e 

pl
us

 
pe

tit
 n

um
ér

o)
 –

 L
e 

jo
ue

ur
 a

ve
c 

le
 p

lu
s h

au
t t

ot
al

 l'
em

po
rt

e 
(e

n 
ca

s d
ég

al
ité

, c
el

ui
 q

ui
 a

 le
 

pl
us

 g
ra

nd
 n

om
br

e 
to

ta
l d

e 
tu

ile
s l

'em
po

rt
e)

.
O

n 
ne

 sa
it 

pa
s s

’il
 v

a 
bi

en
 re

st
er

 c
on

�n
é.

 M
ai

s c
’es

t c
la

ir
em

en
t u

n 
co

n 
�n

i !

Ce
 je

u 
vo

us
 es

t o
�e

rt
 en

 té
lé

ch
ar

ge
m

en
t l

ib
re

. P
ou

r a
ut

an
t, 

le
s d

ro
its

 d
u 

sy
st

èm
e d

e j
eu

 n
e s

on
t p

as
à 

di
sp

os
it

io
n.

 T
ou

te
 a

da
pt

at
io

n,
 re

th
ém

at
is

at
io

n,
 co

m
m

er
ci

al
e o

u 
no

n,
 d

oi
t p

ré
al

ab
le

m
en

t f
ai

re
l’o

bj
et

 d
’u

n 
ac

co
rd

 d
e n

ot
re

 p
ar

t.

10
 

+ 
bo

nu
s d

e 
7

= 
17

 p
oi

nt
s







V E R S O







R E C T O


